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Decode the following message by converting the binary to decimal then finding the corresponding ASCII letter.

01000011		01101111		01101101		01110000	
01110101		01110100		01100101		01110010
00100000		01010011		01100011		01101001
01100101		01101110		01100011		01100101
00100000		01010010		01110101		01101100
01100101		01110011		00100001

____  ____  ____  ____  ____  ____  ____  ____     	 ____  ____  ____  ____  ____  ____  ____  
____  ____  ____  ____  ____

Again, convert the binary to text but this time, convert the ASCII to Hexadecimal and use the Hex code to find the ASCII letter.

01001000		01100101		01111000		00100000	
01101001		01110011		00100000		01101101		
01110101		01100011		01101000		00100000
01100101		01100001		01110011		01101001
01100101		01110010		00101110

____  ____  ____	____  ____	____  ____  ____  ____ 		
____  ____  ____  ____  ____  ____  ____
